" -
Al (5] (sea3ms
WWW.Snrazavi.ir sgo, ol o
\yay




—
0alms :¢5)0 1s0
I
(e lose LS5k el O
leas ;0 g b Joe O
(Lo Sslao Kiko) (peiiil> U O
Sas > g 64,8 > O

o> S0 O
bodl> @ faww, ¢l oY Oldae dlis Silo ke ,5 O

g sl sl O
e 09 G 4 g CS 0 olw! O
S 2 eS $9y p ey S Jlel O

1RQV — (5913) ol saw ~ Blal5T sgaims Slasiilw! - cobas Jgs



G3B)s (568TMS (,00.6C eR)eT) 2¢5)9 150
- 4

function TREE-SEARCH(problem, strategy) returns a solution, or failure
initialize the search tree using the initial state of the problem
loop do
if there are no candidates for expansion then return failure
choose a leaf node for expansion according to strategy
if the node contains a goal state then return the corresponding solution
else expand the node and add the resulting nodes to the search tree

end
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function RECURSIVE-BEST-FIRST-SEARCH(problem) return a solution or failure
return RBFS(problem, MAKE-NODE(problem.INITIAL-STATE, )

function RBFS(problem, node, f_limit) return a solution or failure and a new f_cost limit
if problem.GOAL-TEST(node.STATE) then return SOLUTION(node)

successors « EXPAND(node, problem)
If successors is empty then return failure,
for each s in successors do
s.f < max(s.g + s.h, node.f)
loop do
best < the lowest f-value node in successors
If best. f > f_limit then return failure, best. f
alternative < the second lowest f-value among successors
result, best. f « RBFS(problem, best, min(f_limit, alternative))
If result # failure then return result
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function RBFS(problem, node, f_limit) return a solution or failure and a new
if problem.GOAL-TEST(node.STATE) then return SOLUTION(node)

successors « EXPAND(node, problem)
if successors is empty then return failure, o
for each s in successors do
s.f < max(s.g +s.h, node.f)
loop do
best «— the lowest f-value node in successors
if best. f > f_limit then return failure, best. f
alternative < the second lowest f-value among successors
result, best. f <« RBFS(problem, best, min(f_limit, alternative))

if result # failure then return result
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function RBFS(problem, node, f_limit) return a solution or failure and a new
if problem.GOAL-TEST(node.STATE) then return SOLUTION(node)

successors « EXPAND(node, problem)
if successors is empty then return failure, o
for each s in successors do
s.f < max(s.g +s.h, node.f)
loop do
best «— the lowest f-value node in successors
if best. f > f_limit then return failure, best. f
alternative < the second lowest f-value among successors
result, best. f « RBFS(problem, best, min(f_limit, alternative))

if result # failure then return result
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Arad Fagaras Oradea SPCRimnicu function RBFS(problem, node, f_limit) return a solution or failure and a new
646 415 671 413

if problem.GOAL-TEST(node.STATE) then return SOLUTION(node)

successors « EXPAND(node, problem)
if successors is empty then return failure, o
for each s in successors do
s.f < max(s.g +s.h, node.f)
loop do
best «— the lowest f-value node in successors
if best. f > f_limit then return failure, best. f
alternative < the second lowest f-value among successors
result, best. f « RBFS(problem, best, min(f_limit, alternative))

if result # failure then return result
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Qimisoard CZerind >

447 449
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CArad > CRagaras> Oradea>

646 415 671 if problem.GOAL-TEST(node.STATE) then return SOLUTION(node)

Craiovd P ChitestD  CSibin D successors « EXPAND(node, problem)

596 417 553 if successors is empty then return failure, oo

function RBFS(problem, node, f_limit) return a solution or failure and a new

for each s in successors do

s.f < max(s.g +s.h, node.f)
loop do
best «— the lowest f-value node in successors
if best. f > f_limit then return failure, best. f
alternative < the second lowest f-value among successors
result, best. f « RBFS(problem, best, min(f_limit, alternative))

if result # failure then return result
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function RBFS(problem, node, f_limit) return a solution or failure and a new
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if result # failure then return result
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